0001345904568999

o0 HEXE 0—e>>

9013 4 % 55 1 74

11 t20<t<2%2A-TEHETS. MWy =(x—22 LOE ¢, —2)2)IBl 2% ¢4 5.
DL E, ROMNZEZ L.

(1) £ERR € DA% RD L.

(2) B L L zHDRMERD &.

(3) ERL L i, yMIZL>TEENDIHHOEME S() £ 5. 05t <2IZBVWTSE)MERAKEAEZL
FDtDfEE S(t) D% RD k.

() %= 2(x-2)8), 4:4=2(t-2)(x-t)+ (1-2)°

2 QY= (- -4

/i

(2) oz $=024CALT.
0= 2(t-2)x~ t'+4

S (t-2)(21~t-2)=o0

't 2 o
0¢t<z &y, x= % -~ R&w (Er1,0)
t/4 gr
H YFs L oxd 5 (0, 4-17)
( '}f 0y ( \4%1
§+t Y0, 4-1t°>0 &Y TaoLrlh3. / .
Szt =5
: | ot : o N
= = (=+1)(4-T
sr= 5 (5+0(4-1%) Gty
= -t 2
3 i 3 2
Si)= —gt-t+1
- £ (3t-2)(t+2)
: > 2 ’—_-t Q- %" (2)
S S=oek3nE 0st<z ). t= Foel swl] [+]o]-
6
5T, H:MErhasir3, il 7‘5?{&

_ 1 4 32 _ ¢4
S(3)=3- 37 % 4

't=3i03 B Ak AE gi




